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Diploma Engineering - SEMESTER-IV « EXAMINATION — WINTER -« 2014

Subject Code: 340704 Date: 01-12-2014
Subject Name: Relation Data Base Management System
Time: 02:30 pm - 05:00 pm Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.
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What is Lock? List types of Locks. Explain Deadlock with example.
Write a PL/SQL code to find out maximum number of three numbers.

List out PL/SQL data types and explain any two in detail.
What is Cursor? Explain its types.

OR
What is trigger? Explain trigger types with example.

What is VIEW? List advantages and disadvantages of Views.
What is Normalization? Discuss 1NF and 2NF in detail.
OR
What do you mean by functional dependency? Explain various types of
functional dependencies.
Write short notes on: 1) BCNF  2) 4NF

Why concurrency control is needed? Explain two phase locking protocol.
What is Exception? Explain meaning of following.
1) TOO_MANY_ROWS 2) NO_DATA FOUND 3) LOGIN_DENIED
OR
Explain ACID properties of Transaction Processing.
Explain following SQL command.
1) ROLLBACK 2) SAVEPOINT

Explain Buffer Management.
Write short note on 1) Firewall 2) Data Encryption
OR
Explain types of Database Recovery in detail.
List out Implicit cursor attributes and explain meaning of %ROWCOUNT.
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Exception A2@ 9] ? o{lAsll AGElotl W AU A
TOO_MANY_ROWS 2) NO_DATA FOUND 3) LOGIN_DENIED
Al

Transaction Processing o{l ACID properties clelcll

o{lAsll SQL command AHsLA.

ROLLBACK 2) SAVEPOINT

Buffer Management 1Hesicll.

1) Firewall 2) Data Encryption (A &s oll cull
vaAdl

Database Recoveryail Uslal Gslgyds aglal.

Implicit cursor attributese{l A€l AWl. W BROWCOUNT oll A8l culdl .
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